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PSR, PSI, PCI
Distress Performance

A flexible highway pavement was tested and the following roughness and
distress was measured.

Slope variance = 40 (x 105)

Alligator cracking = 10 ft2/ 1000 ft2

Transverse cracking =20 ft/ 1000 ft2

Mean rut depth = 0.05 in.

Rut depth variance = 6.0 in2 (x 100)

Patching = 15 ft2/ 1000 ft2

Compute the PSI of the asphalt pavement using the various prediction models
given below:

(@ PSI = 5.03 - 1.91l0g(1 + SV) - 1.38RD? - 0.01/C + P

(b) PSI = 5.03 - 1.91log(1 + SV) - 1.38RD?

Describe the basic way in which each prediction model is estimating PSR and
compare the different results obtained with each model. Evauate the
condition of the pavement.
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A flexible highway pavement is being reconstructed over the same alignment
asthe existing pavement. The current and projected traffic is given below:

Lanes= 4 lanes divided Terminal PS| = 2.5

Initial 2-way ADT = 25,000 Mean Axles/Truck = 2.8
Final 2-way ADT = 40,000 Directional distribution = 50%
Average percent trucks = 17 Design life = 20 years

Assume SN equals to 5 and ADT increases linearly (i.e., having a constant
simple growth rate). The axle load distribution is given in the following
table:

Loads % Load
Distribution
Single Axle <6k 5
6-12k 10
12-18k 15
18- 24k 5
24 - 30 k 2
Tandem Axle <12k 3
12- 18k 10
18- 24k 25
24 - 30 k 20
30-36k 5

Determine the total 18-kip ESALs in the inner and outer lane over the 20-year
period.



	page1
	page2

